TpuroHomeTpudeckme PyHKLNK jf\

|

PyYyHKUUM y=tgX, y=ctgx,
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CBoicTBa PYHKUMM Y = tgx—
1. D(f) = R, kpome x = g+ mtk, keZ
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2.y = tgx — nepuoauvecKas ¢ OCHOBHBIM
[epPuoaoOM 7: tg(X - ) = tgx = tg(x + m)

3.y = tgx — HeueTHast PyHKUHUA: tg(-X)=-tgX
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4.y = tgx — BO3pacTaeT Ha HHTepBaJe (-

S.y = tgXx — He OrpaAaHUYCHA HU CBEPXY, HU
CHM3Y

6. y = tgx — He UMeeT HAMDOoJIbIIEero 1
HAUMEHbIIEro 3HAYEHUSI

[ [
7.y = tgx — HempephIBHA HA HHTEPBaJIe(— i)

8. E(y) = (~o05+0)



CBoiicTBa byHKUMM Y = ctgx

1. D(f) = R, kpome x = 1k, keZ
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2.y = ctgx — nnepuoan4YecKas ¢ OCHOBHBIM
[ePUOAOM 7 Ctg(X - 1) = ctgx = ctg(x + m)

3.y = ctgx — HeyeTHAA PYHKIUA: Ctg(-X)=-Ctgx
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4. y = ctgx — yoObiBaeT Ha uHTepBajge (0; )

S.y = ctgX — He OrpaHNYEHA HU CBEpPXY, HH
CHM3Y

6. y = ctgx — He UMeeT HAn0OJIbIIIEero u
HAUMEHbIIEro 3HAYEHUSI

7.y = ctgx — HenmpepbIBHA HA HHTepBaJe (0; )

8. E(y) = (-o05+o0)



